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Altitude EH was drawn in right triangle FEG represented below.
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Whatis the length of line segment FE?
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Consider the linear correlation between variables x and y of a statistical distribution.
The scatter plot below represents this distribution.

What s the approximate value of the linear correlation coefficient between these wo
variables?
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Point P is on line segment AB represented in the Cartesian plane below.
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From point A, point P is located % of the way along line segment AB.

What are the coor

ates of point P?
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A supplier sells precious metals to jewellers. These jewellers use the metals they buy to
make jeweliery. The following table provides information on the precious metals
purchased by three jewellers.

Weight of silver Weight of gold |
Jeweller purchased purchased e el
(9 (@
A 40 80 4204
e [ 50 2666
c 70 75 7

The jewellers each paid the same price for a gram of sitver.

The jewellers each paid the same price for a gram of gold.

What s the total cost of the siiver and gold purchased by Jeweller C?
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Ina game of chance, a flashing dot moves all
over a wall screen.

The screen is rectangular and grey

On the screen, there is a white right triangle,
namely, triangle QRS represented below.
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A player must place a bet to play this game. This game involves pressing a key on a
computer keyboard to stop the flashing dot. The position of the flashing dot is
determined at random by the computer.

+ I the flashing dot is stopped in the white section, the player receives $10.

+ Ifthe flashing dot is stopped in the grey section, the player does not receive any
money.

This game is fair

How much money must the player bet (o play this game?
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A half-plane is represented in the Cartesian plane below.

The half-plane above represents the solution set for which one of the following
inequalities?

A)  x+4y<-144 C) 4x+y<-36

B) x+dy>-144 D) 4x+y>-36
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. Marianne is a professional athlete. She follows a special diet to make sure that she
eats enough calories to be able to train and compete.

‘The table below shows the number of calories eaten in her lunches last week.

Number of calories
eaten at lunch

Sunday 800
Monday 770
Tuesday 750
Wednesday 790
Thursday 750
Friday 800
Saturday 800

‘The mean number of calories Marianne ate at lunch last week was 780.

What is the mean deviation of the number of calories contained in Marianne’s lunches.
last week?

A) 0 calories C) 20calories

B) 10 calories D) 30 calories
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There are 30 people in a dance group.

Ifone of these 30 people is randomly chosen, the odds of choosing a man are 2o 3.
How many men are there in this dance group?

A 10 o) 18

B) 12 D) 20




